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2302 

Second Year T.D.C. COMMERCE EXAMINATION, 2019 

ELEMENTARY COMPUTER APPLICATION 

Time: Three Hours 

Maximum Marks: 100 
 

INSTRUCTIONS/ funsZfunsZfunsZfunsZ’k’k’k’k    

1. The test booklet contains total 100 questions. Each question carry 1 (one) mark.  

 iz'ui= esa dqy 100100100100 iz’u gSa rFkk izR;sd iz’u 1111 vad dk gSA  
2. Candidate shall be required to attempt all 100 questions.  

 lHkh 100100100100 iz’u gy djus vfuok;Z gSaA  
3. No negative marking.  

 _.kkRed vad ns; ugha gSA 
4. On receipt of test booklet, the candidate should immediately check it and ensure that it 

is complete in all respect. Discrepancy, if any, should be reported by the candidate to 

the invigilator within 10 minutes of receiving the test booklet.  

 Nk= iz’u cqdysV izkIr djrs gh lcls igys mlds dqy i`"B rFkk iz’u la[;k tk¡p dj ys] ;fn iz’u 
i= esa dksbZ =qfV vFkok dVk&QVk gks] rks rqjUr i;Zos{kd dks lwfpr djkosaA 

5. The answer sheet is in the form of OMR answer sheet. Candidates should blacken the 

circle corresponding to correct answer.  

 Nk= dks lHkh iz’uksa ds mÙkj OMR 'khV esa nsus gSaA Nk= dks lgh mÙkj ds dkWye dks uhys isu@dkys 
isu ls xgjk dkyk djuk gSA 

6. While answering each question, candidate should blacken OMR properly with blue pen 

or black ball pen as per instruction printed on the OMR sheet.   

 Nk= dks mÙkj nsrs le; OMR 'khV ij fn;s x;s funsZ’kksa dks /;ku esa j[krs gq, uhys isu vFkok dkys 
isu ls gh dkWye dks dkyk djuk gSA 

7. For each question only one circle should be blackened. If more than one circle is found 

marked, the question will be treated unattempted.  

 Nk= dks izR;sd iz’u dk mÙkj ,d dkWye esa gh dkyk djds nsuk gSA ;fn ,d ls vf/kd dkys xksys 
cuk;s x;s] rks og mÙkj ugha i<+k tk,xkA 

8. Candidate shall be required to deposit OMR answer sheet with the invigilator.   

 Nk= dks OMR 'khV mÙkj nsus ds i'pkr~ i;Zos{kd dks tek djkuh vfuok;Z gSA 
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1. The basic operations performed by a 

computer are – 

(A) Arithmetic operation 

(B) Logical operation 

(C) Storage and relative 

(D) All the above 
 

1. dEI;wVj }kjk lEiUu ewyHkwr lafØ;k,¡ gS &    
(A) Arithmetic operation 

(B) Logical operation 

(C) Storage and relative 

(D) All the above 
    

2. Which technology is used in compact 

disk? 

(A) Mechanical 

(B) Electrical 

(C) Electro magnetic 

(D) Laser 
 

2. dkWEisDV fMLd esa fdl rduhdh dk mi;ksx 
gksrk gS\    
(A) Mechanical 

(B) Electrical 

(C) Electro magnetic 

(D) Laser 
    

3. Which of the following is not computer 

hardware? 

(A) CD Drive 

(B) Printer 

(C) Antivirus 

(D) Hard Disk 
 

3. fuEu esa ls dEI;wVj gkMZos;j dkSu lk ugha gS\    

(A) CD Drive 

(B) Printer 

(C) Antivirus 

(D) Hard Disk 
    

4. In computer system scanner is 

…………..device. 

(A) Input 

(B) Output 

(C) Both 

(D) None 
 

4. dEI;wVj flLVe esa LdSuj ----------------- ;qfDr   gSA    
(A) Input 

(B) Output 

(C) Both 

(D) None 
    

5. What do you call a single point on 

computer screen? 

(A) Cell 

(B) Element 

(C) Pixel 

(D) Bit 
 

5. dEI;wVj LØhu ij lcls NksVs fcUnq dks D;k 

dgk tkrk gS\    

(A) Cell 

(B) Element 

(C) Pixel 

(D) Bit 
    

6. The first generation computer was based 

on ……….  

(A) Vacuum Tube 

(B) Silicon chips 

(C) Transistor 

(D) Bio chips 
 

6. izFke ih<+h ds dEI;wVj ------------ij vk/kkfjr FksA     

(A) Vacuum Tube 

(B) Silicon chips 

(C) Transistor 

(D) Bio chips 
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7. Which is valid statement? 

(A) 1 kB = 1000 Bytes 

(B) 1 kB = 1024 Bytes 

(C) 1 MB = 1000 Bytes 

(D) 1 MB = 1024 Bytes 
 

7. fuEu esa ls dkSu lk dFku lgh gS\    
(A) 1 kB = 1000 Bytes 

(B) 1 kB = 1024 Bytes 

(C) 1 MB = 1000 Bytes 

(D) 1 MB = 1024 Bytes 
    

8. The BIOS is the abbreviation of – 

(A) Basic Input Output System 

(B) Best Input Output System 

(C) Basic Input Output Symbol 

(D) None of these 
 

8. BIOS dk iwjk uke D;k\    
(A) Basic Input Output System 

(B) Best Input Output System 

(C) Basic Input Output Symbol 

(D) buesa ls dksbZ ugha 
    

9. The computer size was very large in – 

(A) First generation 

(B) Second generation 

(C) Third generation 

(D) Fourth generation 
 

9. dEI;wVj dk vkdkj cgqr cM+k Fkk &    
(A) First generation esa 

(B) Second generation esa 

(C) Third generation esa 

(D) Fourth generation esa 
    

10. Full form of IC is – 

(A) Interznit 

(B) Integrated Common 

(C) Interconnected Circuit 

(D) Integrated Circuit 
 

10. vkbZ- lh- dk iwjk uke gS &    
(A) Interznit 

(B) Integrated Common 

(C) Interconnected Circuit 

(D) Integrated Circuit 
    

11. Group of Instruction is called as –  

(A) Register 

(B) Program 

(C) Address 

(D) All the above 
 

11. funsZ’kksa dk lewg dgykrk gS &    
(A) Register 

(B) Program 

(C) Address 

(D) mijksDr lHkh 
    

12. Loading of operating system in computer 

memory is called as – 

(A) Loading 

(B) Booting 

(C) Merging 

(D) None of these 
 

12. vkWijsfVax flLVe dks dEI;wVj dh Lef̀r esa yksM 
djus dks dgrs gSa &    
(A) Loading 

(B) Booting 

(C) Merging 

(D) buesa ls dksbZ ugha 
    

13. The basic components of Computer are – 

(A) Input Devices 

(B) Output Devices 

(C) Processor 

(D) All the above 
 

13. dEI;wVj ds eq[; vo;o gSa &    
(A) Input Devices 

(B) Output Devices 

(C) Processor 

(D) mijksDr lHkh 
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14. The Heart of Computer is – 

(A) Memory 

(B) CPU 

(C) Input / Output 

(D) None of these 
 

14. dEI;wVj dk fny gS &    
(A) Memory 

(B) CPU 

(C) Input / Output 

(D) buesa ls dksbZ ugha 
    

15. A. L. U. stand for – 

(A) Atomic Line Unit 

(B) Analog Logic Unit 

(C) Arithmetic Logic Unit 

(D) Automatic Logic Unit 
 

15. ,- ,y- ;w- ls rkRi;Z gS &    
(A) Atomic Line Unit 

(B) Analog Logic Unit 

(C) Arithmetic Logic Unit 

(D) Automatic Logic Unit 
    

16. Compiler and Interpreters are – 

(A) Translator 

(B) Transistor 

(C) Hardware 

(D) Printers 
 

16. dEikbyj vkSj bUVjizsVj gSa &    
(A) Translator 

(B) Transistor 

(C) Hardware 

(D) Printers 
    

17. Which Device is used for getting hard 

copy?  

(A) Printer 

(B) Floppy 

(C) Hard Disk 

(D) C D 
 

17. fdl midj.k dks gkMZ dkWih izkIr djus ds 
fy, dke esa ykrs gSa\    
(A) Printer 

(B) Floppy 

(C) Hard Disk 

(D) C D 
    

18. The base of Decimal number is – 

(A) 2 

(B) 10 

(C) 8 

(D) 16 
 

18. n'keyo la[;k dk vk/kkj gksrk gS &    
(A) 2 

(B) 10 

(C) 8 

(D) 16 
    

19. Hexadecimal equivalent of binary 

number 1111111 is – 

(A) 7 F 

(B) 8 E 

(C) 715 

(D) 3 C 
 

19. f}/kkjh la[;k 1111111 dk "kksM’k/kkjh lerqY; 
gksxk &    
(A) 7 F 

(B) 8 E 

(C) 715 

(D) 3 C 
    

20. F1 key is used for – 

(A) Cut 

(B) Help 

(C) Paste 

(D) Delete 
 

20. F1 dh dk iz;ksx fd;k tkrk gS &    

(A) Cut 

(B) Help 

(C) Paste 

(D) Delete 
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21. How many bits are there in 5 bytes? 

(A) 40 

(B) 50 

(C) 25 

(D) 08 
 

21. ik¡p ckbZV esa fdrus fcV~l gksrs gaS\    
(A) 40 

(B) 50 

(C) 25 

(D) 08 
    

22. Which is a output device? 

(A) Printer 

(B) Speaker 

(C) Plotter 

(D) All the above  
 

22. buesa ls dkSulk vkmViqV midj.k gS\    
(A) Printer 

(B) Speaker 

(C) Plotter 

(D) mijksDr lHkh 
    

23. Page available on web are written in ……  

(A) HTTP 

(B) HTML 

(C) BINARY 

(D) BASIC  
 

23. osc ij miyC/k ist fy[kk tkrk gS &    
(A) HTTP 

(B) HTML 

(C) BINARY 

(D) BASIC  
    

24. Machine language makes use of – 

(A) Decimal digits 

(B) Hexadecimal digit 

(C) Binary digits 

(D) Octal digit 
 

24. e'khu Hkk"kk fuEu esa ls mi;ksx djrh gS &    
(A) Decimal digits 

(B) Hexadecimal digit 

(C) Binary digits 

(D) Octal digit 
    

25. Which of the following language is 

related with computers? 

(A) Machine language 

(B) Assembly language 

(C) High level language 

(D) All the above 
 

25. fuEufyf[kr esa ls dkSu & lh “k"kk dEI;wVj ls 

lEcfU/kr gS\    
(A) Machine language 

(B) Assembly language 

(C) High level language 

(D) mijksDr lHkh 
    

26. VDU stands for – 

(A) Video Display Unit 

(B) Video Device Unit 

(C) Visual Display Unit 

(D) None the these 
 

26. oh-Mh-;w- ls rkRi;Z gS &    
(A) Video Display Unit 

(B) Video Device Unit 

(C) Visual Display Unit 

(D) buesa ls dksbZ ugha 
    

27. Microprocessor is placed on –  

(A) Mother board 

(B) Memory 

(C) Network interface card 

(D) None of these 
 

27. ekbØksizkslslj LFkkfir gksrk gS &    

(A) Mother board 

(B) Memory 

(C) Network interface card 

(D) buesa ls dksbZ ugha 
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28. DOT Matrix Printer is – 

(A) Impact 

(B) Non – Impact 

(C) Laser 

(D) Thermal 
 

28. MkWV esfVªDl fizaVj gS &    
(A) Impact 

(B) Non – Impact 

(C) Laser 

(D) Thermal 
    

29. Light Pen is – 

(A) Output Device 

(B) Input Device 

(C) Import Device 

(D) Export Device 
 

29. ykbV isu gS &     
(A) Output Device 

(B) Input Device 

(C) Import Device 

(D) Export Device 
    

30. Which is not a Memory? 

(A) RAM 

(B) ROM 

(C) Mother Board 

(D) Cache 
 

30. dkSu & lh Lèfr ugha gS\    
(A) RAM 

(B) ROM 

(C) Mother Board 

(D) Cache 
    

31. Which is system software? 

(A) MS – DOS 

(B) MS – WORD 

(C) MS – EXCEL 

(D) MS – POWERPOINT 
 

31. fuEu esa ls dkSu&lk flLVe lkW¶Vos;j gS\    
(A) MS - DOS 

(B) MS – WORD 

(C) MS – EXCEL 

(D) MS – POWERPOINT 
    

32. Which of the following is a search 

engine?  

(A) HTTP 

(B) HTML 

(C) Internet Explorer 

(D) Google 
 

32. fuEu esa ls dkSu & lk lpZ batu gS\    
(A) HTTP 

(B) HTML 

(C) Internet Explorer 

(D) Google 
    

33. What is full form of C. R. T.? 

(A) Computer Ray Tube 

(B) Color Ray Tube 

(C) Cathode Ray Tube 

(D) Common Ray Tube 
 

33. lh- vkj- Vh- dk iwjk uke D;k gS\    
(A) Computer Ray Tube 

(B) Color Ray Tube 

(C) Cathode Ray Tube 

(D) Common Ray Tube 
    

34. Power Point Presentation is collection     

of – 

(A) Pages 

(B) Slides 

(C) Pictures 

(D) Letters 
 

34. ikWoj ikWbUV iszt+UVs’ku fdldk lewg gS &    

(A) Pages 

(B) Slides 

(C) Pictures 

(D) Letters 
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35. MS – Word File extension is – 

(A) .xls 

(B) .ppt 

(C) .txt 

(D) .doc 
 

35. ,e ,l & oMZ Qkby dk ,DlVsa’ku gS &    
(A) .xls 

(B) .ppt 

(C) .txt 

(D) .doc 
    

36. An Animation Software is – 

(A) Power Point 

(B) Excel 

(C) Word 

(D) Paint Brush  
 

36. ,d ,fues’ku lkW¶Vos;j gS &    
(A) Power Point 

(B) Excel 

(C) Word 

(D) Paint Brush  
    

37. Memory is made up of – 

(A) Set of wires 

(B) Set of circuit 

(C) Large number of cells 

(D) All of these 
 

37. Lef̀r dk fuekZ.k gksrk gS &    
(A) Set of wires 

(B) Set of circuit 

(C) Large number of cells 

(D) mijksDr lHkh 
    

38. Memory unit is one part of – 

(A) Input Device 

(B) Output Device 

(C) Control Unit 

(D) Central Processing Unit 
 

38. Lef̀r bdkbZ fdldk Hkkx gksrk gS &    
(A) Input Device 

(B) Output Device 

(C) Control Unit 

(D) Central Processing Unit 
    

39. MICR stands for – 

(A) Magnetic Ink Character Reader 

(B) Magnetic Ink Code Reader 

(C) Magnetic Ink Case Reader 

(D) None of these 
 

39. ,e- vkbZ- lh- vkj- dk vFkZ gS &    
(A) Magnetic Ink Character Reader 

(B) Magnetic Ink Code Reader 

(C) Magnetic Ink Case Reader 

(D) buesa ls dksbZ ugha 
    

40. The operating system manages – 

(A) Memory 

(B) Processes 

(C) Disk and I/O Devices 

(D) All of the above 
 

40. vkWijsfVax flLVe O;ofLFkr djrk gS &    
(A) Memory 

(B) Processes 

(C) Disk and I/O Devices 

(D) mijksDr lHkh 
    

41. MS – Excel is based on – 

(A) Windows 

(B) DOS 

(C) UNIX 

(D) OS/2 
 

41. ,e- ,l- & ,Dlsy fdl ij vk/kkfjr gS\    

(A) Windows 

(B) DOS 

(C) UNIX 

(D) OS/2 
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42. Which is not a business model of  a 

e – commerce? 

(A) B2B 

(B) C2C 

(C) B2C 

(D) D2B 
 

42. fuEu esa ls dkSu lk bZ & okf.kT; dk O;kikj 
ekWMy ugha gS\    
(A) B2B 

(B) C2C 

(C) B2C 

(D) D2B 
    

43. Which chart can be created in Excel? 

(A) Bar 

(B) Line 

(C) Pie 

(D) All of the above 
 

43. dkSu lk pkVZ ,Dlsy esa cuk;k tk ldrk gS\    
(A) Bar 

(B) Line 

(C) Pie 

(D) mijksDr lHkh 
    

44. Which key is used to select all the text in 

the document? 

(A) Ctrl + T 

(B) Ctrl + A 

(C) Ctrl + F 

(D) Ctrl + N 
 

44. dkSu&lh dqath lEiw.kZ MkWD;wesUV dks flysDV 
djus ds fy, gksrh gS\    
(A) Ctrl + T 

(B) Ctrl + A 

(C) Ctrl + F 

(D) Ctrl + N 
    

45. Which of the following is not a term of 

MS – Excel? 

(A) Cells 

(B) Rows 

(C) Columns 

(D) Document 
 

45. fuEu esa ls dkSulk ,e- ,l- & ,Dlsy dk in 
ugha gS\    
(A) Cells 

(B) Rows 

(C) Columns 

(D) Document 
    

46. Which key is used for slide show? 

(A) F5 

(B) F10 

(C) F2 

(D) F1 
 

46. LykbM 'kks ds fy, dkSu lh dqath iz;qDr gksrh 
gS\    
(A) F5 
(B) F10 
(C) F2 
(D) F1 

    

47. Which key is used for undo? 

(A) Ctrl + C 

(B) Ctrl + Z 

(C) Ctrl + A 

(D) Ctrl + Y 
 

47. vuMw ds fy, dkSu lh dqath iz;qDr gksrh gS\     
(A) Ctrl + C 

(B) Ctrl + Z 

(C) Ctrl + A 

(D) Ctrl + Y 
    

48. Which of the following is a multi – user 

operating system? 

(A) UNIX 

(B) MS – DOS 

(C) Windows 

(D) None of these 
 

48. fuEu esa ls eYVh ;wt+j vkWijsfVax flLVe dkSu 
lk gS\    
(A) UNIX 

(B) MS – DOS 

(C) Windows 

(D) buesa ls dksbZ ugha 
    



 

 

[2302]  Page 9 of 16  

  

49. Which of the following is page 

orientation? 
(A) Landscape 
(B) Portrait 
(C) Gutter 
(D) Only (A) and (B) 

 

49. fuEu esa ls ist foU;kl dkSu lk gksrk gS\    
(A) Landscape 

(B) Portrait 

(C) Gutter 

(D) Only (A) and (B) 
    

50. What is Internet Explorer?  

(A) An Icon 

(B) A File Manager  

(C) A Browser  

(D) The Internet 
 

50. bUVjusV ,DlIyksjj D;k gS\    
(A) An Icon 

(B) A File Manager  

(C) A Browser  

(D) The Internet 
    

51. Computers having maximum processing 

power and speed – 

(A) Super computer 

(B) Mainframe computer 

(C) Personal computer 

(D) Analog computer 
 

51. vf/kdre lalk/ku 'kfDr o xfr okys dEI;wVj 
gSa &    
(A) Super computer 

(B) Mainframe computer 

(C) Personal computer 

(D) Analog computer 
    

52. Which wild card represents single 

character? 
(A) * 
(B) ? 
(C) / 
(D) – 

 

52. dkSu lk okbYM dkMZ ,dy pfj= dk 
çfrfuf/kRo djrk gS\    
(A) * 

(B) ? 
(C) / 
(D) – 

    

53. Decimal number (27)10 equivalent to 

octal number - 

(A) 35 

(B) 31 

(C) 33 

(D) 37 
 

53. n'keyo la[;k (27)10 dk vkWDVy esa eku   
gksxk &    
(A) 35 

(B) 31 

(C) 33 

(D) 37 
    

54. What is binary of 15? 

(A) 1110 

(B) 1111 

(C) 1001 

(D) 1010 
 

54. 15 dk f}/kkjh D;k gksxk\    
(A) 1110 

(B) 1111 

(C) 1001 

(D) 1010 
    

55. Add, subtract, divide, multiply and 

logical operations are performed by – 

(A) Register 

(B) Central Unit 

(C) Arithmetic Logic Unit 

(D) None of these 
 

55. tksM+] ?kVkuk] Hkkx] xq.kk vkSj ykWftd vkWijs’ku 

fd, tkrs gSa &    
(A) Register 

(B) Central Unit 

(C) Arithmetic Logic Unit 

(D) buesa ls dksbZ ugha 
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56. A floppy disk is organised as – 

(A) Tracks 

(B) Sectors 

(C) Tracks and Sectors 

(D) Heads and Sectors 
 

56. ¶ykWih fMLd cuh gksrh gS &    
(A) Tracks ls 
(B) Sectors ls 
(C) Tracks and Sectors ls 
(D) Heads and Sectors ls 

    

57. Which one of the following is not an 

output device? 

(A) Monitor 

(B) Printer 

(C) Plotter 

(D) Digitizer 
 

57. buesa ls dkSulk vkmViqV midj.k ugha gS\    
(A) Monitor 

(B) Printer 

(C) Plotter 

(D) Digitizer 
    

58. HTML stands for – 

(A) Hyper Text Make-up Language 

(B) Hyper Text Mark-up Language 

(C) Hypo Text Make Language 

(D) Hypo Text Mark-up Language 
 

58. ,p-Vh-,e-,y- ls rkRi;Z gS &    
(A) Hyper Text Make-up Language 

(B) Hyper Text Mark-up Language 

(C) Hypo Text Make Language 

(D) Hypo Text Mark-up Language 
    

59. In e – mail, e stands for – 

(A) Enter 

(B) Encrypt 

(C) Electronic 

(D) Electric 
 

59. bZ & esy esa bZ dk eryc gS &    
(A) Enter 

(B) Encrypt 

(C) Electronic 

(D) Electric 
    

60. CTRL + X is used for – 

(A) Copy 

(B) Paste 

(C) Cut 

(D) Undo 
 

60. CTRL + X dk mi;ksx fd;k tkrk gS &    
(A) Copy 

(B) Paste 

(C) Cut 

(D) Undo 
    

61. Which of the following are elements of 

print preview? 

(A) Zoom 

(B) Print 

(C) Next 

(D) All of the above 
 

61. buesa ls dkSu ls fizUV fizO;w ds vo;o gS\     

(A) Zoom 

(B) Print 

(C) Next 

(D) mijksDr lHkh 
    

62. Full form of FTP – 

(A) File Transfer Protocol 

(B) File Transmission Pair 

(C) File Transfer Packet 

(D) File Text Protocol 
 

62. ,Q- Vh- ih- dk iwjk uke gS &    
(A) File Transfer Protocol 

(B) File Transmission Pair 

(C) File Transfer Packet 

(D) File Text Protocol 
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63. Which is not a Protocol? 

(A) FTP 

(B) SMTP 

(C) FIRE – FOX 

(D) HTTP 
 

63. buesa ls dkSulk izksVksdkWy ugha gS\    
(A) FTP 

(B) SMTP 

(C) FIRE – FOX 

(D) HTTP 
    

64. BCD is – 

(A) Binary Coded Decimal  

(B) Bit Coded Decimal 

(C) Binary Coded Digit  

(D) Bit Coded Digit 
 

64. ch- lh- Mh- gS &    
(A) Binary Coded Decimal  

(B) Bit Coded Decimal 

(C) Binary Coded Digit  

(D) Bit Coded Digit 
    

65. All formula in Excel start with – 

(A) % 

(B) + 

(C) = 

(D) – 
 

65. ,Dlsy esa lHkh lw= izkjEHk gksrs gSa &    
(A) % 

(B) + 

(C) = 

(D) – 
    

66. Intersection of Row and Column is called 

as – 
(A) Data 

(B) Filed 

(C) Cell 

(D) Equation 
 

66. iafDr ,oa LrEHk ds bUVlZsD’ku dks dgrs gSa &    

(A) Data 

(B) Filed 

(C) Cell 

(D) Equation 
    

67. Half bytes is known as – 

(A) Data 

(B) Octal 

(C) Bit 

(D) Nibble 
 

67. ,d ckbZV ds vk/ks dks tkuk tkrk gS &    
(A) Data 

(B) Octal 

(C) Bit 

(D) Nibble 
    

68. Ctrl + B is used for – 

(A) Bold 

(B) Italic 

(C) Bold + Italic 

(D) None of these 
 

68. Ctrl + B dk mi;ksx fd;k tkrk gS &     

(A) Bold 

(B) Italic 

(C) Bold + Italic 

(D) buesa ls dksbZ ugha 
    

69. MS stands for – 

(A) Micro System 

(B) Micro Scan 

(C) Micro Software 

(D) Micro soft 
 

69. ,e- ,l- dk vFkZ gS &    

(A) Micro System 

(B) Micro Scan 

(C) Micro Software 

(D) Micro soft 
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70. Two main component of CPU is – 

(A) Control Unit & Register 

(B) ALU & BUS 

(C) CU & ALU 

(D) None of these 
 

70. lh- ih- ;w- ds nks eq[; Hkkx gaS &    
(A) Control Unit & Register 

(B) ALU & BUS 

(C) CU & ALU 

(D) buesa ls dksbZ ugha 
    

71. Personal Computer is a type of – 

(A) Mini Computer 

(B) Micro Computer  

(C) Main frame Computer 

(D) Super Computer 
 

71. ilZuy dEI;wVj ,d izdkj gS &    

(A) Mini Computer 

(B) Micro Computer  

(C) Main frame Computer 

(D) Super Computer 
    

72. Which device is used to check multiple 

choice questions? 

(A) BCR 

(B) OMR 

(C) OCR 

(D) MICR 
 

72. dkSulk midj.k cgqfodYih; iz’uksa dks pSd 

djus ds dke vkrk gS\    

(A) BCR 

(B) OMR 

(C) OCR 

(D) MICR 
    

73. A key board has ………..function keys. 

(A) 10 

(B) 9 

(C) 12 

(D) 7 
 

73. fdlh dh&cksMZ esa QaD’ku dqaft;k¡ fdruh gksrh 
gaS\ 
(A) 10 

(B) 9 

(C) 12 

(D) 7 
    

74. Windows is an – 

(A) Operating system 

(B) GUI 

(C) (A) and (B) 

(D) None of these 
 

74. fo.Mkst+ gS &    

(A) Operating system 

(B) GUI 

(C) (A) and (B) 

(D) buesa ls dksbZ ugha 
    

75. The internet uses which protocol? 

(A) TCP/IP 

(B) CSMA 

(C) HTTP 

(D) None of these 
 

75. baVjusV fdl izksVksdkWy dk iz;ksx djrk gS\    

(A) TCP/IP 

(B) CSMA 

(C) HTTP 

(D) buesa ls dksbZ ugha 
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76. The shortcut key to perform a spelling 

and grammar check is – 

(A) F9 

(B) F7 

(C) Ctrl + G 

(D) None of these 
 

76. Lisfyax vkSj O;kdj.k dks psd djus dh y?kq 

dqath D;k gS\    

(A) F9 

(B) F7 

(C) Ctrl + G 

(D) buesa ls dksbZ ugha 
    

77. Which is not an octal number from the 

following? 

(A) 3472 

(B) 424 

(C) 934 

(D) 1001 
 

77. fuEu esa ls dkSu&lh vkWDVy la[;k ugha gS\    

(A) 3472 

(B) 424 

(C) 934 

(D) 1001 
    

78. Which is not a Windows accessory? 

(A) Paint 

(B) Calculator 

(C) Notepad 

(D) Desktop 
 

78. dkSulh foUMkst+ ,slsljh ugha gS\    

(A) Paint 

(B) Calculator 

(C) Notepad 

(D) Desktop 
    

79. Hard disk is a – 

(A) Primary Memory 

(B) Secondary Memory 

(C) Both (A) and (B) 

(D) None of these 
 

79. gkMZ fMLd gS &    

(A) Primary Memory 

(B) Secondary Memory 

(C) Both (A) and (B) 

(D) buesa ls dksbZ ugha 
    

80. POP is – 

(A) Mail 

(B) Mail Server 

(C) Mail Protocol 

(D) None of these  
 

80. ikWi gksrk gS &    

(A) Mail 

(B) Mail Server 

(C) Mail Protocol 

(D) buesa ls dksbZ ugha 
    

81. Mbps is a unit for – 

(A) CPU speed 

(B) Clock speed 

(C) Refresh rate 

(D) Transmission speed  
 

81. ,e-ch-ih-,l- bdkbZ dk mi;ksx fd;k tkrk    
gS &    
(A) CPU speed 

(B) Clock speed 

(C) Refresh rate 

(D) Transmission speed 
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82. In the print dialog box of word you can 

select – 

(A) All pages 

(B) Current page 

(C) Selected pages  

(D) Anyone  
 

82. oMZ esa fizaV Mk;ykWx ckWDl esa flysDV fd, tk 
ldrs gSa &    
(A) All pages 

(B) Current page 

(C) Selected pages  

(D) Anyone  
    

83. MAR – 94 is ………… format. 

(A) MM – DD – YY 

(B) DD – MM – YY 

(C) MMM – YY 

(D) YY - MMM 
 

83. MAR – 94 dk QkWeZsV gS &    
(A) MM – DD – YY 

(B) DD – MM – YY 

(C) MMM – YY 

(D) YY - MMM 
    

84. Which of the following is not an 

operating system? 
(A) UNIX 
(B) DOS 
(C) WINDOWS 
(D) OFFICE 

 

84. fuEu esa ls dkSulk vkWijsfVax flLVe ugha gS\    
(A) UNIX 

(B) DOS 

(C) WINDOWS 

(D) OFFICE 
    

85. Which is a Transmission Media? 

(A) Optical Fiber 

(B) Satellite 

(C) Radio – wave 

(D) All the above 
 

85. buesa ls dkSu&lk lapkj dk ek/;e gS\    
(A) Optical Fiber 

(B) Satellite 

(C) Radio – wave 

(D) mijksDr lHkh 
    

86. One byte is equivalent to – 

(A) Group of four bits  

(B) Group of ten bits 

(C) Group of eight bits 

(D) Group of two bits 
 

86. ,d ckbZV lerqY; gS &    
(A) Group of four bits 

(B) Group of ten bits 

(C) Group of eight bits 

(D) Group of two bits 
    

87. e – mail is – 

(A) essential mail 

(B) embedded mail 

(C) electronic mail 

(D) None of these 
 

87. bZ & esy gS &    
(A) essential mail 

(B) embedded mail 

(C) electronic mail 

(D) buesa ls dksbZ ugha 
    

88. Which of the following MS – office tools 

is used for database? 

(A) MS – Word 

(B) MS – Excel 

(C) MS – Power point 

(D) MS – Access 
 

88. fuEu esa ls dkSulk ,e- ,l- & vkWfQl Vwy 

MsVk & csl ds fy, iz;qDr gksrk gS\    

(A) MS – Word 

(B) MS – Excel 

(C) MS – Power point 

(D) MS – Access 
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89. Short – cut keys for copy and paste are –  

(A) Ctrl + X, Ctrl + V  

(B) Ctrl + C, Ctrl + V 

(C) Ctrl + X, Ctrl + C 

(D) Ctrl + X, Ctrl + Y 
 

89. dkWih o isLV ds fy, 'kkWVZ & dV dqaft;ksa dk 
dkSulk lgh ;qXe gS\    
(A) Ctrl + X, Ctrl + V 

(B) Ctrl + C, Ctrl + V 
(C) Ctrl + X, Ctrl + C 
(D) Ctrl + X, Ctrl + Y 

    

90. Unit of measuring frequency is –  

(A) Hertz 

(B) Watt 

(C) Volt 

(D) Decibel 
 

90. vkof̀r ukius dh bdkbZ gS &    
(A) Hertz 

(B) Watt 

(C) Volt 

(D) Decibel 
    

91. Meaning of MAN is – 

(A) Mini Application Network 

(B) Main Administration Network 

(C) Metropolitan Area Network  

(D) Multiple Area Network 
 

91. esu dk vFkZ gS &    
(A) Mini Application Network 

(B) Main Administration Network 

(C) Metropolitan Area Network  

(D) Multiple Area Network 
    

92. Which is a Programming Language? 

(A) C 

(B) C++ 

(C) JAVA  

(D) All of the above 
 

92. fuEu esa ls dkSulh izksxzkfeax Hkk"kk gS\    
(A) C 

(B) C++ 

(C) JAVA  

(D) mijksDr lHkh 
    

93. D. T. P. means – 

(A) Desk Top Transfer 

(B) Desk Top Publishing 

(C) Data Transfer Package 

(D) None of these 
 

93. Mh- Vh- ih- dk eryc &    

(A) Desk Top Transfer 

(B) Desk Top Publishing 

(C) Data Transfer Package 

(D) buesa ls dksbZ ugha 
    

94. Computer can be used in which field?  

(A) Education 

(B) Medical 

(C) Entertainment 

(D) All of the above 
 

94. dEI;wVj dk iz;ksx dkSu ls {ks= esa gksrk gS\    

(A) Education 

(B) Medical 

(C) Entertainment 

(D) mijksDr lHkh 
    

95. The fastest memory in a computer system 

is – 

(A) ROM 

(B) RAM 

(C) Cache 

(D) None of these 
 

95. dEI;wVj esa lcls rst Lèfr dkSulh gksrh gS\    

(A) ROM 

(B) RAM 

(C) Cache 

(D) buesa ls dksbZ ugha 
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96. WWW stands for – 

(A) World Wide Web 

(B) World Window Web 

(C) Word Wide Web 

(D) None of these 
 

96. WWW dk vFkZ gS &    

(A) World Wide Web 

(B) World Window Web 

(C) Word Wide Web 

(D) buesa ls dksbZ ugha 
    

97. Which of the following works in a very 

limited area? 

(A) LAN 

(B) MAN 

(C) WAN 

(D) None of these 
 

97. fuEu esa ls dkSulk dsoy lhfer {ks= esa dk;Z 
djrk gS\    
(A) LAN 

(B) MAN 

(C) WAN 

(D) buesa ls dksbZ ugha 
    

98. FAT stands for – 

(A) Format Allocation Table 

(B) File Allocation Table 

(C) File Accessing Techniques 

(D) None of these 
 

98. ,Q- ,- Vh- dk vFkZ gS &     

(A) Format Allocation Table 

(B) File Allocation Table 

(C) File Accessing Techniques 

(D) buesa ls dksbZ ugha 
    

99. TCP / IP stands for – 

(A) Total Control Page / Internet 

Page 

(B) Transmission Control Protocol / 

Internet Protocol 

(C) Total Change Page / Internet 

Package 

(D) None of these 
 

99. Vh- lh- ih-@vkbZ- ih- dk vFkZ gS &    
(A) Total Control Page / Internet Page 

(B) Transmission Control Protocol / 

Internet Protocol 

(C) Total Change Page / Internet 

Package 

(D) buesa ls dksbZ ugha 
    

100. Each website on the Internet can be 

accessed by entering a unique address. 

This address is referred to as –  

(A) HTTP 

(B) HTML 

(C) FTP 

(D) URL 
 

100. baVjusV ij izR;sd osclkbV rd ,d ;wuhd 
irs ds }kjk igq¡pk tk ldrk gSA bl irs dks 
fufnZ"V fd;k tkrk gS &    
(A) HTTP 

(B) HTML 

(C) FTP 

(D) URL 
    

 

----------------------------------------- 


